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1 Divide Multiples of 10, 100, and 1,000 ““’"*"""{‘;ﬁ;:"ﬁ““"’ ig: Book Page: 208
You can use different strategies to solve these equations.
One Way Use basic facts and place value.
dividend divisor quotient
v
24 -3=8
24 tens +- 3 =8 tens so, 240-+3=80

24 hundreds = 3 = 8 hundreds
24 thousands = 3 = 8 thousands

Another Way Use the relationship between

multiplication and division.

3X8=24
3 X80=240
3 X 800 =2400
3 X 8,000 = 24,000

6N 01143153175

S0,24 -3 =8
so, 240 -3 =80

so, 2,400 +-3 =800
so, 24,000 == 3 =8,000

How can you use the
pattern with zeros to
divide other multiples
of 10, 100, or 1,000?

so, 2,400 =+ 3 =800
so, 24,000 =+ 3 = 8,000

https://t.me/MathG4aMrmohamed
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@wurkTugethgr Book Page: 208

Miguel bought 300 seedlings for his garden. He wants to plant an
equal number of seedlings in 6 rows. How many seedlings go in each

row? Show and explain your work.
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Book Page: 209
How can you complete the equations?

1. 36ones+9= ones 2. 180 +3=
36tens -9 = tens 1,800 -3 =
36 = 9 = 4 hundreds 18,000 -3 =

What is the quotient? Use a related multiplication equation to solve.

3. 48tens+-6="7 4. 35000+-5=7
6 X8 = 48 tens 5 X = 35,000
So,48tens -6 = So,35,000+-5=

5. 560+7= 6. 3604 =
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Book Page: 209
What division equation can you use to solve the problem?

7. A bus travels 3,000 miles in 5 days. It travels the same distance
each day. How far does the bus travel in one day?

8. A school orders 420 math textbooks. The textbooks arrive in
6 boxes with an equal number of books in each box. How many
books are in each box?
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Book Page: 209
9. Naomi reads the same number of pages each day. After 8 days

she has read 320 pages. How many pages does she read
each day?
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Learn+Work Tngether

212 _ Book Page: 212

2 Estimate Quotients

(1-11)

213

Learn

A hardware store owner is putting nuts and bolts
into separate boxes. She divides the nuts equally
into 6 boxes and the bolts equally into 7 boxes.

About how many bolts will go in each box?

You can write division equations and estimate using 561 nuts 3,358 bolts
a range to solve.

In order to estimate the quotient you can use compatible numbers.

Use a compatible number less than Use a compatible greater than the

the dividend. dividend.
3358+-7=7? 3358 +-7=7?
2800+7=400 3,500 +-7=500

A range of 400 to 500 bolts will go in each box. Since 3,500 is closer to
3,358 than 2,800, the actual quotient will be closer to 500 than 400.

Mr Mohamed Ibrahem
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@ Work Together Book Page: 213

About how many nuts will the hardware owner put in each box?

How can you estimate the quotient using compatible numbers?

1. 342 =8 2. 836 +9

3. 2134 <+ 7 4. 53616
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Book Page: 213
How can you estimate a range for the quotient?

Write equations to show your work.

5. 749 =8 6. 522 +7

7. 3,297 =+ 8 8. 6428+ 9
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9.

10.

n.

Book Page: 213
A class collected 323 cans for recycling. They can place only DoKX TAde

7 cans in each bag. About how many bags will the class need for
their cans?

Jeremy scored a total of 6,128 points playing video games. If he
scored about the same number of points in each of his 9 games,
about how many points did he score in each game?

The bowling alley had 397 bowlers over the weekend. There
were about 5 bowlers for each lane rental. About how many lane
rentals did they have for the weekend?
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3 Find Equal Shares

Learn+Work Together

216 Book Page: 216

(1-10)

2178218

Learn

Ralph has 42 avocados. He places an equal number into each of

three crates.

How many avocados will he put into each crate?

A division equation can represent the problem.

You can use counters and
groups to represent the problem.

42 -3 =c
0000000

What other operation
represents equal sharing?

69 01143153175

Partition the counters into three equal
groups.

sasse sassegasee

There are 14 counters in each group.
42 -3 =14

Ralph will put 14 avocados into each
crate.
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Q) Work Together Book Page: 217

Shannon uses 52 beads to make 4 bracelets. Each bracelet has the same
number of beads. How many beads are in each bracelet?

How can you solve the problem? Use counters or draw a picture to show your
work.

1. 12 counters are shared equally into 2. 25 counters are shared equally

3 groups. into 5 groups.
There are counters in There are counters in
each group. each group.
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Book Page: 217

3. 49+7= 4, 39+-3=

5. 66+ 6= 6. /5+5=
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Book Page: 217
7. There are 91 students in the school chorus. The chorus conductor

puts 7 students in each row. How many rows of students are there?

8. Four students equally share 68 binder clips. How many binder clips does
each student receive?
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9. Sasha scores 96 points in 6 games of basketball. She scores Bo°k Page: 217

the same number of points in each game. How many points
does she score in each game?

10. Raul uses 72 nails to build 3 drawers. He uses the same
number of nails for each drawer. How many nails does he use
for each drawer?
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4 Divide 4-Digit Dividends by 1-Digit Divisors

Learn+Work Together

(1-8)

229 Book Page: 224
225

Learn

A factory is packaging 1,550 golf balls.
Each box holds 5 golf balls.

How many boxes will the factory fill?

You can use an area model to represent and solve the problem.

b=1550+5 Area Model
b

| The dividend

| The divisor |
a5 16550

| represents the total.

| Think: How many
| 5< are in 1,5507

l Area Model
100 + W0 + W0 +10

Add the partial quotients to find the final quotient.

100 + + + 10 =310
b=1550+5

b =310

The factory can fill 310 boxes of golf balls.

Mr Mohamed Ibrahem

6N 01143153175

Partial Quotients

1,550

= 500 (5 =100

1,050
- 500 S x 100
550
— 500 5 x 100
50
— 50 (5 =10)
0

Patterns
What other partial
quotients could you
use?
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@ Work Together Book Page: 224

How can you use partial quotients to solve the equation?
=7

What is the quotient? Use the partial quotients to solve.

1. 2200+2= 2. 4840 +4 =
2,200 4840
— 2,000 (2 x 1,000) — 4000 (4 X 1,000)
200 840
— 200 (2 x100) — 400 (4 x 100)
0 440
— 400 (4 x100)
40
—40 (4 x10)
0
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. . . . Book Page: 225
What is the quotient? Use partial quotients to solve.

3. 9300 +3= 4. 3240+ 3=
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. . . i Book Page: 225
What is the quotient? Use partial quotients to solve.

5. 3216 2= 6. B350+5=
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7. There are 1,359 students attending field day. There are
9 different game stations. Each game station holds the same

number of students. How many students will be at each
game station?

8. Zoe bought 2,268 inches of ribbon. She is making 4 different
costumes with each costume using the same amount of ribbon.
How many inches of ribbon will Zoe use for each costume?
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Learn+Work Together 228 Book Pag e: 225
(1-10) 229 & 230

16 Understand Remainders

Learn

I - Bl - i =
i Pl - :
Avery's classroom library has 235 books in 1* -1 111 ‘1‘
one bookcase. The bookcase has 8 shelves. mimmtin . Hll '-llll
Each shelf has the same number of books on it. - T T
hll‘hi ‘ b l"

How many books are on each shelf?

You can divide to solve the problem.

235+8=7 Think: What 8x1=8
235 —1 : :
Use the partial quotients strategy. ~160 (8 % 20 number times 8 is 8x2=16
75 - |closest 10 2257 |
— 72 (8%09 8x3=24
235 cannot be divided evenly into 8. 3 7 [ 8x4=32
There is a remainder of 3. | a remainder
8x5=40
8x6=48

Add the partial quotients and write the remainder.
235 + 8 = 29 R3 e_[The remainder can be 8x7=56
shown with the letter R. Connections 8 % 8 - 6«

In the partial-quotients
strategy, what indicates 8x9=72

that there is a remainder? 8x10=80

There are 29 books on each shelf with
3 books left over.

Mr Mohamed Ibrahem
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@ Work Together

Avery’s school purchased 7,220 books for the students. If each
student receives 6 books, how many books will be left over?
Use the partial-quotients strategy to solve the problem.
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What is the quotient? Use the partial quotients to solve.

1. 415+2= - 2. 5044 5= -
415 5,044
— 200 (2 X 100) —5,0_{19(5::1000)
215
— 200 (2 X 100) :ﬂ(SxB}
15 4
— 14 (2x7)

1
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What is the quotient and the remainder? Use partial quotients
to solve.

3. 929 +3=

4. M9 -4 =

5. 3225 +8=

6. B254 5=

1. 843/+17-=
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Solve the problem.

8. A restaurant has $609 to buy cups. If each box of cups costs $9,
how many boxes can the restaurant purchase? How much money
will be left over?
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9. A party planner has 275 balloons for a party. How many tables
can he have with 6 balloons on each table? How many balloons
will be left over?

10. George has $20 and wants to buy snow cones for his friends.

The snow cones are $3 each. How many snow cones can he
buy? How much money will he have left?
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I Learn+Work Together

4 .
5 Equivalent Fractions Book Page: 4
| (1-8),6,7,8 5826
Learn
, @ Work Together
Marcy and Xavier are reading the same book. Marcy says she
1 ; 3 : .
read - of the book. Xavier says he read <5 of the book. Are % and 71- equivalent fractions? Use the fraction models to explain.
How can you determine whether they read the same amount?
One Way Use Fraction Strips
1 3
7 and B represent the same amount.
They are equivalent fractions. What patterns do
you see in the :
Another Way Use Number Lines representations?
-} and % are at the same point on the number line.
Marcy and Xavier read the same amount of the book.
@ 01143153175 https://t.me/MathG4aMrmohamed ﬁhbg} daana [ Giluals ) Al




Book Page: 5

Are the fractions equivalent?

2 4 4 3
1. 3 and 5 2. 0 and a
3 1 8 4
3. 3 and 3 4. 10 and T
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Use the representation to find the missing number in the Book Page: 5

equivalent fractions.
2 —
5. a e 6.
o e L S m—
0 1
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Book Page: 5

Kathy lives % mile from the park. Charles lives -1%- mile from the

park. Do they live the same distance from the park? Explain.

Faye and Omar ate the same amount of a small quesadilla.
Faye's quesadilla was cut into 4 pieces and Omar’s was cut into
8 pieces. How many pieces might they each have eaten? Explain
your reasoning.
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Book Page: 26

6. Which fractions are equivalent 7. Which fractions are equivalent to
the point on the number line?

3
-7
to 6" Choose all that apply. Choose all that apply. (Lessons 8-1,8-3)

(Lessons 8-1, 8-2) P } 4 i ® 4 >
A 0 1
' A 2 B. <
. 4 - 3
1 8
B. 3 D. 5
8 6
E: 10 . 3
o
8. Which fraction is equivalent
D. fo '1'6? {Lesson 8-1)
2 6
A. 3 B. ]
E. - 4 .
o< 5 D. 5
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6 Generate Equivalent Fractions using Models

Learn+Work Tagether

(1-8)

8 Book Page: 8

Learn

Alexa and Sari got pizzas that are the same size.
Alexa cut her pizza into 6 equal-sized pieces and ate

% of her pizza. Sari ate the same amount of her pizza,

but cut her pizza into smaller equal-sized pieces.
What fraction of her pizza could Sara have eaten?

You can find fractions that are equivalent to -g—.

One Way Use fraction models. Another Way Rewrite -% with a

Alexa Sari

different denominator.

To generate an equivalent fraction,
multiply the numerator and
denominator by a fraction equal to 1.

4x2 _ 8 ‘ ,
6 equal parts. 12 equal parts. 6xX2q 12 %: 1 (
4 are shaded. 8 are shaded. ‘
43 12 —
4 8 === 3]
= = Ex3oBe o |57
Sari could have eaten ng— of Sari could have eaten % of
her pizza. her pizza.

6N 01143153175
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@ Work Together Book Page: 8

What fraction is missing from the pattern? Explain how you can
find the equivalent fraction.
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Use the representation to find an equivalent fraction. Book Page: 9
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Find the missing number in the equivalent fraction. Book Page: 9
Explain how you determined the number.

I 3 _ 75

S. 5—[_ 6. R
r—“‘ ‘Y___

, u_J g Jz_:]
8 ¥ 9 § 3
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16 Book Page: 16

10

Learn+Work Togeth
7 Compare Fractions using Benchmarks | arntivork fogether
| (1- 8) 17

Learn
Jade used different colors of ribbon to Ribon Coior | Amoant iised e wﬂ rk Tﬂgﬂthﬂr
decorate a board.
o . = " Red %yard 2 4

T P P How can you use benchmark numbers to compare += and =7
of red ribbon she used to the amounts GG &+ yard 5

? 8 : : : :

S E Use a fraction model to justify your comparison.
You can compare fractions to a Blue 12 Yard
benchmark number.

< t 2 ® —> Thinking

0 1 4 7 1
2 6 8 How do benchmark numbers
help you determine how two
u fractions are related?

% is close to 1.

% is close to -;— % > %

Jade used more green than red ribbon.
<+ o— ® . 1 S .

0 5 i a 1 © is greatfr t:an g and o s
12 2 6 less than 5. & > 5 Jade used

more red than blue ribbon.

You can use the benchmark numbers O, -;— and 1to compare fractions.

6N 01143153175
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Book Page: 17
How can you compare the fractions using benchmark numbers?

Write >, <, or = to record the comparison.

4 S _G_Oi
1 GO1O 2. 1 8

» 304 « 301
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5 Book Page: 17
5. Which fractions are greater than 6. Which fractions are less than -é-?

775? Choose all that apply. Choose all that apply.
2 6 2 3
A. ) B. 3 A. B B. 3
3 8 g 4
o -6- D. 0 C. 0 D. ol
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Book Page: 17

Oscar ran % mile on Tuesday and % mile on Thursday. On which

day did Oscar run a greater distance? Explain your thinking.

Ron is comparing two fractions. He says he knows which fraction

is greater by comparing them to the benchmark fraction % What

two fractions could Ron be comparing? Explain your reasoning.
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20 | Book Page: 20

Learn+Work Together
17 Other Ways to Compare Factions (1-8) 21
11,12,13,14,15 27
Learn

Marta's father made two pasta dishes. The Ingredient Aoint
table shows how much cheese and sauce

he used in the dishes.

How can you compare the amounts of
cheese he used?

How can you compare the amounts of
sauce he used?

3 5 A
You can compare 7 and g using
an equivalent fraction so the
fractions have like denominators.

0|0 «——b|w
0|1 @ 0o|n

>

Six % parts > five % parts
Marsha used more parmesan
cheese then mozzarella cheese.

6N 01143153175

Parmesan Cheese % cup
Mozzarella Cheese % cup
Marinara Sauce % liter
Meat Sauce % liter

You can compare % and % using an

equivalent fraction so the fractions
have like numerators.

Db «—W|N
D] «—0| b

<

Four —é— parts < four % parts

Marsha used less marinara sauce
than meat sauce.

https://t.me/MathG4aMrmohamed
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@ Work Together Book Page: 20

Hannah ate i of a small apple. Her brother ate 172

apple. Hannah says she ate more than her brother because

% 13 nd — 5> —7- How would you respond to Hannah?

of a large
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Write >, <, or = to compare the fractions. Explain your reasoning for
each comparison.

3 a8 2 1
1. EOTE = EOE

- 2
10k N

Blw
glo

5. %O% 8.

o~
L) kS

Q 01143153175 https://t.me/MathG4aMrmohamed
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7. Russel and Toby each bought a medium box of popcorn. Russel ECOL FEEE 2

ate % of his popcorn and Toby ate % of his popcorn. Did

Russel eat more popcorn than Toby? Explain your reasoning.

8. Klaya compares two fractions. She writes one of the fractions as an
equivalent fraction so the fractions have like denominators. What
fractions might Klaya be comparing? Explain your reasoning.
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) Book Page: 21
9. Ethan and Petra have the same number of raffle ti ets to sell.

Ethan sold ;1— of his raffle ti ets. Petra sold -g— of her raffl
tickets. Who sold more tickets? Explain your reasoning.
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11. Match each fraction to the
benchmark numberitis
closest to. (Lesson 84)

Closestto O -;2‘-
2
10
1 3
Closest to 5 5
1
8
5
Closestto 1 3
¥ i
8

6 01143153175

Book Page: 27

12. Complete the comparisons using
L and =. (Lessons 8-4, 8-5)
3 10

sUn
2()4
6 5
1)&
8 10

13. Whicg fractions are greater
than -é-? Choose all that apply.

{Lessons 84, 8-5)

m oo »
m O D
Blv nls &=
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